SN
X XH .
S Tt

el

AgD:'

[yl

=S8 ASBH(LS3HTY/LEHAH)
=89 2l

_ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
=50 572,696 554,076 18,620
EED ANYAH(LLSTHE/LAT) 423,948 411,024 12,924
=50 22 139,128 126,204 12,924
A2t 6,720 6,460 260
201 L2 6,720 6,460 260
02 SS2gH 6,720 6,460 260
(@):K=3:] 1,220
—UHENARUZASHI(AMRA)
1,27090 = 8AI2F * 120 * 1CH 1,220
OA & EHIs Xl 1,500
—2A2 R X 22| 1,500,000 * 14 1,500
@F2=S VL NL] 4,000
—U=HsEX 2,000,0002 * 1CH 2,000
—s3FY 2 EY 2,000,00094 = 1CH 2,000
e 22 4,862 4,730 132
101 QI 244 1,832 1,750 82
04 JIAHM22NEE S 1,832 1,750 82
OstAges olge 36,6408 * 1% = 50 1,832
206 T 2l 1,490 1,440 50
01 24l 1,490 1,440 50
OotHES F]U 1,190
—3aR 1,6909! » 150 ¢ 254
-3gR 1,8602! * 100 ¢ 186
— SHAHR 2,5002 * 300 ¢ 750
ONgESE =8 XU 2¢
5,0002 * 5% x 128 300
307 2120l & 1,540 1,540 0
01 2L 2| 1,540 1,540 0
ogloizel RS 15,0008 * 3% * 12 540
OHAHAIZR Felbl 500,000& * 27 1,000
2orS R 39,376 32,604 6,772
201 LBt 39,376 32,604 6,772
02 2323l 39,376 32,604 6,772
Oltzs, Bos &IIe3
6,0002 * 4285 * 12%& 30,816
OJtzs, Bos =2ltl
50,0009 * 4285 = 40/100 8,560
SEZAFAY 20,690 14,930 5,760
101 QI 244 14,658 14,000 658
04 JI2AHHM22NEE S 14,658 14,000 658
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SN =50
HH: 250 AUAH (LSS THE/YBHE)
CHol =50 22 (crel @
_ _ - NEc
SN HA(S) - HRAY - BES Ol & o 0l A o1 Hns2
OEzH ZHJ| o2
36,6402 * 8% « 102 33| 8,794
OZAN ¥ ZYN22 1R
36,6408 * 4% * 42 « 33| 1,759
OZDNSHH L #X SAFHY 2
36,6408 * 4% * 22 « 43 1,173
OAANMEY HLZ(HEHEZ)EHI] o2
36,6402 * 4% « 102 23] 2,932
201 et | 300 300 0
01 At2 22/ H| 300 300 0
Oz RXE4 50,0008 * 30§ * 23l 300
206 M 2 5,732 630 5,102
01 2 Hl 5,732 630 5,102
Z2 o xFx 2e 260
—Elbl 2 HEPY 50008 * 20% * 13 100
—HEG M A P
10,0008 * 2% * 33 60
—HAER R 5,0008 * 10& « 23] 100
O #HERIY 1,860 * 200 4 372
Ozl 2g7e 2,0002 * 5074 100
OSHIS SMQE Y 2R ATHAIY
10,0008 * 500 5,000
ZRIRR DlBHY &t 67,480 67,480 0
204 X242 H| 2,400 2,400 0
03 SHY2A| 2,400 2,400 0
oHMeRgyz2e 100,000 * 2% 122 2,400
301 YprE A2 65,080 65,080 0
055 2 - BHEss2a3 61,840 61,840 0
00l &g 59,040
—-Jl=ay 200,0008 * 18% « 12% 43,200
—A02 200,0008 * 18% « 23] 7,200
— 3|0 F M2 g
20,0009 * 182 » 128 * 23| 8,640
Otat g 50,0008 * 56 * 13 2,800
10 BAFAHI P A2 3,240 3,240 0
O0I&3I9S 519 EHAT S4
5,008 * 542 « 128 3,240
ARD FOUSRAWOIAY 284,820 284,820 0
ARG FOBO ALY 284,820 284,820 0
401 Al HI 2 S CHH| 284,820 284,820 0
01 Al&H 282,000 282,000 0
OARRD FLIBMAAY  282,000,0008 * 14! 282,000
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2N B
M =20 QY (LUBTUT /Y E)
Sol: ARR EOISRBEAAL (ol &2
SN -EHH . (B) - MPAY - BE2 0 Ak o4 e HRE2
03 A2 2 0Hd| 2,820 2,820 0
O2R2 FOIBAMY ALY
282,000,000& * 1/100 2,820
NS YA (220 (IIEHIIEH) 148,748 143,052 5,696
QIR A 48,856 45,100 3,756
A=A 48,856 45,100 3,756
101 21 2| 48,856 45,100 3,756
01 E= 48,856 45,100 3,756
Ot 2g
8,078 * 143 = 36AI2t * 122 48,856
Jl=2Z4l 99,892 97,952 1,940
Jl=&d| 99,892 97,952 1,940
201 get=24Ed| 41,412 39,022 2,390
01 AtR2tel 27,224 26,034 1,190
OSABXTYALl 13,0008 * 14 A « {28 2,184
OE20AHl 5,000& = 34 « 14 » 123 2,520
Oggte==g 100,000& = 122 1,200
OLmE EM7HI 50,000& = 128 600
OLra2sHH] 6,580
—= Al 2 500,0002! * 1CH 500
—ZelE 42l 1000008 * 4CH * 50/100 200
—=2AMI| EH 200,000& = 53 » 1CH 1,000
—Z2HI(SH) £
200,0008 * 53| * 4CH 4,000
—PC==2l 100,000& = 14CH * 20/100 280
—JIEt==cldl 50,000& * 12& 600
OJIEH A2l 5,002 * 14% 128 840
ogN4+g 13,300
—r 30,0008 * 18 * 2502 7,500
—ox 50,0008 * 1% * 1162 5,800
02 2324l 14,188 12,988 1,200
0Z223 2 HAl 14, 188
—SANLSE RER=S 150,000& = 123 1,800
—RuYs MER 9,002 * 128 108
—HIQB(FA, HaDE, AR)
850,000& = 12& 10,200
—ddl=z=si 8JIe3 90,000& * 128 1,080
—NEAER3 50,0008 * 128 600
—SIFNERES 50,000& * 23] 100
—HIIHM AN =2 150,000& = 23l 300
202 01t 45,920 45,920 0
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0 Mo r2
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20
B
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01 2ot 3,920 3,920 0
O=2U40iH| 70,0008 * 14% 4 3,920

02 2 201 42,000 42,000 0
O %01l 250,0002! * 142 * 122 42,000

203 YR H| 10, 160 10, 160 0

01 )| B2y =AYl 6,600 6,600 0
O JI2A2YAREZY 6,600,0008 * 1% 6,600

02 RAJtARE T Y| 560 560 0
OFIALREHY| 40,0008 * 14% 560

04 BNSYAREAY| 3,000 3,000 0
ORASgdLERY| 250,002 * 122 3,000

204 2243 2| 2,400 2,400 0

01 I AR A 2,400 2,400 0
OFNzZAL LAY 2,400
—oE 150,0002 * 1% = 129 1,800
—=2og 50,0008 * 1% = 12" 600
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